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ВСЕРОССИЙСКАЯ ОЛИМПИАДА ШКОЛЬНИКОВ ПО 

ТЕХНОЛОГИИ 

Теоретический тур 
возрастная группа (9 класс) 

 

№ 

вопроса 

Ответы 

1. е 

2. 2035  

Решение: 11 · (3 · 9 + 2 · 8 + 1 · 15 + 1 · 127) = 2035 (шт.) 

3. б, в 

4. а 

5. дизайн изделий 

6.  

 

 

7. лен 

б 

8. а, в, д 

9. а, ж, в, е, г, д, б  

10. б 

11. г 

12. Коническая 

13.  б, г 

14. а 

15. б 

16. 250  

Решение: 85 : 100 · 250 + 750 : 100 · 5 = 250 ккал 

17. г, б, а, д, е, в 

18. а–4, б–1, в–2, г–3 

19. г 

20.      

1 2 3 

в а б 
 
 

21. 21.1: в 

21.2: б 

21.3: в 

21.4: деталь №2 – клин;  деталь №3 пояс 

21.5: в, г 
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